Regulation/Activity	Total Annual Responses	Annual Burden Hours*	\$ Value of Annual Burden Hours
General Permits**			
	238	4,041	\$300,211.17
Specific Permits			
	110	11,472	\$844,727.76
Miscellaneous Eagle Permits			
	2,628	5,056	\$225,110.49
Miscellaneous Reporting Requ	irements***		
	1,529	12,154	\$969,008.21
Miscellaneous Requirements			
	3,964	6,268	\$449,937.46
Totals:	8,469	38,991	\$2,788,995.09

<sup>\*</sup> Rounded to match ROCIS

<sup>\*\*</sup> General permits are not reviewed by USFWS personnel and have no government cost

<sup>\*\*\*</sup> Reporting requirements do not have any annual nonhour cost burden

Total Annual Nonhour Burden Cost	Cost to Government (\$64.24/hour)
\$6,347,900	\$0.00
\$540,200	\$592,292.80
\$13,900	\$336,328.52
\$0	\$73,410.26
\$347,980	\$217,934.20
\$7,249,980.00	\$1,219,965.78

	Niconhau af	Niconhau af		Completion	A	Harriba Labar		Average	Total Ammuel	Arra Time (Has) non	C++-
	Number of Annual	Number of Responses per	Total Annual	Time/ Response	Annual Burden	Hourly Labor Rate (Incl.	\$ Value of Annual	Nonhour Burden Cost	Total Annual Nonhour Burden	Avg. Time (Hrs) per Response for Gov't	Cost to Government
Regulation/Activity	Respondents	Respondent	Responses	(Hours)	Hours*	Benefits)	Burden Hours	(per Response)	Cost	Review	(\$64.24/hour)
Application - Eagle Incidental Take -	General (Form 3	3-200-71) 50 CF	R 22.250 (M	,							
Individuals - Reporting	5	1	5	5.00	25	\$40.90	\$1,022.50	\$95,000	\$475,000	\$500 permit fee + \$9	94,500 admin fee
Individuals - Recordkeeping				1.00	5	40.90	204.50	,			
Private Sector - Reporting	20	1	20	18.00	360	86.64	31,190.40	95,000	1,900,000	\$500 permit fee + \$9	94,500 admin fee
Private Sector - Recordkeeping				2.00	40	86.64	3,465.60			10.1.500	
Government - Reporting	5	1	5	18.00	90	55.47	4,992.30	94,500	472,500	\$94,500 turbine adm	nin fees only
Government - Recordkeeping  Subtot	al 30	-	30	2.00	10 530	55.47_	554.70 \$41,430.00		\$2,847,500	0	\$0.00
Application - Eagle Incidental Take -		2-200-71\ <b>50 C</b> E		ermite) (MO			Φ41,430.00		φ2,647,500	, U	\$0.00
Individuals - Reporting	General (Forms	3-200-71) 50 CF	-K 22.250 (eF	4.00	20	\$40.90	\$818.00			\$500 permit fee + \$9	04 E00 admin foo
Individuals - Recordkeeping	5	1	5	1.00	5	40.90	204.50	\$95,000	\$475,000	) \$300 permit lee + \$3	94,500 aurilii 166
Private Sector - Reporting				16.00	320	86.64	27,724.80			\$500 permit fee + \$9	04 500 admin foo
Private Sector - Recordkeeping	20	1	20	2.00	40	86.64	3,465.60	95,000	1,900,000	) \$300 permit ree + \$3	94,500 aurilii 166
Government - Reporting				16.00	80	55.47	4,437.60			\$94,500 turbine adm	nin foos only
Government - Recordkeeping	5	1	5	2.00	10	55.47	554.70	94,500	472,500	) \$34,500 tarbine aan	iiii iccs only
Subtot	al 30	-	30	2.00	475	. 33.47_	\$37,205.20		\$2,847,500	0	\$0.00
Amendment - Eagle Incidental Take		3-200-71) 50 C	FR 22.250 (N	(ODIFIED)			70.,=10.		+=,5,55		70.00
Individuals - Reporting				5.00	5	\$40.90	\$204.50				
Individuals - Recordkeeping	1	1	1	1.00	1	40.90	40.90	\$500	\$500	)	
Private Sector - Reporting				5.00	5	86.64	433.20	=00			
Private Sector - Recordkeeping	1	1	1	1.00	1	86.64	86.64	500	500	)	
Government - Reporting	4	4	4	5.00	5	55.47	277.35	0			
Government - Recordkeeping	1	1	1	1.00	1	55.47	55.47	0	(		
Subtot		_	3		18		\$1,098.06		\$1,000	0	\$0.00
Amendment - Eagle Incidental Take	- General (Form	3-200-71) 50 C	FR 22.250 <i>(eF</i>	Permits) (MC	DIFIED)					_	
Individuals - Reporting	1	1	1	4.00	4	\$40.90	\$163.60	\$500	\$500	)	
Individuals - Recordkeeping	-	-	_	1.00	1	40.90	40.90	Ψ000	φου.		
Private Sector - Reporting	1	1	1	4.00	4	86.64	346.56	500	500	)	
Private Sector - Recordkeeping	-	-	_	1.00	1	86.64	86.64	000	000		
Government - Reporting	1	1	1	4.00	4	55.47	221.88	0	(		
Government - Recordkeeping		_		1.00	1	55.47_	55.47	-	44.004		40.00
Subtot		20 74) 50 050	3	(ODIEIED)	15		\$915.05		\$1,000	0	\$0.00
Transfer - Eagle Incidental Take - Ge	enerai (Form 3-20	00-71) 50 CFR	subpart E (N	•	10	¢40.00	#70C 00				
Individuals - Reporting	1	1	1	18.00 2.00	18 2	\$40.90 40.90	\$736.20 81.80	\$1,000	\$1,000	O	
Individuals - Recordkeeping  Private Sector - Reporting				2.00 18.00	18	86.64	1,559.52				
Private Sector - Reporting  Private Sector - Recordkeeping	1	1	1	2.00	2	86.64	1,559.52	1,000	1,000	D	
Government - Reporting				18.00	18	55.47	998.46				
Government - Recordkeeping	1	1	1	2.00	2	55.47	110.94	0	(	)	
Subtot	al 3	-	3	2.00	60	33.47_	\$3,660.20		\$2,000	o o	\$0.00
Transfer - Eagle Incidental Take - Ge		00-71) 50 CFR 9	subpart E (eP	Permits) (MO			, ,				, , , ,
Individuals - Reporting	-	-		14.00	14	\$40.90	\$572.60	44.000	A4.000		
Individuals - Recordkeeping	1	1	1	2.00	2	40.90	81.80	\$1,000	\$1,000	י	
Private Sector - Reporting	1	1	1	14.00	14	86.64	1,212.96	1.000	1.000		
Private Sector - Recordkeeping	1	1	1	2.00	2	86.64	173.28	1,000	1,000	,	
Government - Reporting	1	1	1	14.00	14	55.47	776.58				
Government - Recordkeeping	1	_ 1	1	2.00	2	55.47_	110.94	U			
Subtot			3		48		\$2,928.16		\$2,000	0	\$0.00
Application - Eagle Nest Take - Gen	eral (Form 3-200-	-72) 50 CFR 22.	.300 (MODIF	_							
Individuals - Reporting	1	1	1	14.00	14	\$40.90	\$572.60	ΦEΛΛ	\$500		

				_							
Individuals - Recordkeeping	Τ.	1	1	2.00	2	40.90	81.80	φουυ	φ500		
Private Sector - Reporting	10	1	10	14.00	140	86.64	12,129.60	2,500	25,000		
Private Sector - Recordkeeping	10	_	10	2.00	20	86.64	1,732.80	2,300	23,000		
Government - Reporting	5	1	5	14.00	70	55.47	3,882.90	0	0		
Government - Recordkeeping	<u> </u>	_		2.00	10	55.47	554.70				
	Subtotal 16		16		256		\$18,954.40		\$25,500	0	\$0.00
Application - Eagle Nest Take -	General (Form 3-200	-72) 50 CFR 22	2.300 (ePermit								
Individuals - Reporting	1	1	1	13.00	13	\$40.90	\$531.70	\$500	\$500		
Individuals - Recordkeeping				2.00	2	40.90	81.80	,,,,,			
Private Sector - Reporting	10	1	10	13.00	130	86.64	11,263.20	2,500	25,000		
Private Sector - Recordkeeping				2.00	20	86.64	1,732.80	_,555			
Government - Reporting	5	1	5	13.00	65	55.47	3,605.55	0	0		
Government - Recordkeeping		_		2.00	10	55.47	554.70	_	405.500		40.00
	Subtotal 16		16	 	240		\$17,769.75		\$25,500	0	\$0.00
Amendment - Eagle Nest Take	- General (Form 3-200	0-72) 50 CFR 2	2.300 (MODI			***	+00= 00	_			
Individuals - Reporting	1	1	1	17.00	17	\$40.90	\$695.30	\$150	\$150		
Individuals - Recordkeeping				3.00	3	40.90	122.70				
Private Sector - Reporting	1	1	1	17.00	17	86.64	1,472.88	500	500		
Private Sector - Recordkeeping				3.00	3	86.64	259.92				
Government - Reporting	1	1	1	17.00	17	55.47	942.99	0	0		
Government - Recordkeeping	Subtotal 3	_	3	3.00	3 60	55.47	166.41 \$3.660.20		ф <u>С</u> ГО	0	<b>#0.00</b>
Amendment - Eagle Nest Take		1 72) E0 CED 2	_	its) (MODIFI			\$3,000.20	_	\$650	0	\$0.00
Individuals - Reporting	- General (Form 3-200	3-72) 50 CFR 2	2.300 (ereiiii	13.00	13	\$40.90	\$531.70				
Individuals - Recordkeeping	1	1	1	3.00	3	40.90	122.70	\$150	\$150		
Private Sector - Reporting				13.00	13	86.64	1,126.32				
Private Sector - Recordkeeping	1	1	1	3.00	3	86.64	259.92	500	500		
Government - Reporting				13.00	13	55.47	721.11				
Government - Recordkeeping	1	1	1	3.00	3	55.47	166.41	0	0		
	Subtotal 3	-	3	3.00	48	33.47	\$2,928.16	_	\$650	0	\$0.00
Transfer - Eagle Nest Take - Ge		) 50 CFR subp			.0		<b>\$2,020.10</b>	_	<b>\$</b>		40.00
Individuals - Reporting				18.00	18	\$40.90	\$736.20	** ***	44.000		
Individuals - Recordkeeping	1	1	1	2.00	2	40.90	81.80	\$1,000	\$1,000		
Private Sector - Reporting	_	_		18.00	18	86.64	1,559.52	4 000	4 000		
Private Sector - Recordkeeping	1	1	1	2.00	2	86.64	173.28	1,000	1,000		
Government - Reporting		_		18.00	18	55.47	998.46				
Government - Recordkeeping	1	1	1	2.00	2	55.47	110.94	0	0		
S	Subtotal 3	_	3		60	_	\$3,660.20		\$2,000	0	\$0.00
Transfer - Eagle Nest Take - Ge	eneral (Form 3-200-72)	) 50 CFR subp	art E <i>(ePermi</i>	ts) (NEW)							
Individuals - Reporting	1	1	1	14.00	14	\$40.90	\$572.60	\$1,000	\$1,000		
Individuals - Recordkeeping	-	-	_	2.00	2	40.90	81.80	Ψ1,000	Ψ1,000		
Private Sector - Reporting	1	1	1	14.00	14	86.64	1,212.96	1,000	1,000		
Private Sector - Recordkeeping	-	-	_	2.00	2	86.64	173.28	1,000	1,000		
Government - Reporting	1	1	1	14.00	14	55.47	776.58	0	0		
Government - Recordkeeping		_		2.00	2	55.47	110.94	<u> </u>			
	Subtotal 3	0.000.04) 50	3	(A)(=14()	48		\$2,928.16	_	\$2,000	0	\$0.00
Application - Eagle Disturbanc	e Take - General (Fori	m 3-200-91) 50	CFR 22.280		0.5	<b>#40.00</b>	#1 000 F0				
Individuals - Reporting	5	1	5	5.00	25	\$40.90	\$1,022.50	\$500	\$2,500		
Individuals - Recordkeeping				1.00	5	40.90	204.50				
Private Sector - Reporting	25	1	25	18.00	450	86.64	38,988.00	2,500	62,500		
Private Sector - Recordkeeping				2.00	50	86.64	4,332.00				
Government - Reporting	8	1	8	18.00	144	55.47	7,987.68	0	0		
Government - Recordkeeping	Subtotal 38	_	38	2.00	16 690	55.47	887.52 \$53,422.20	_	\$65,000	0	\$0.00
3	นมเบเลเ 30		30	l	030	ı	φυυ,4∠∠.∠U		φυσ,υυυ	U	φυ.υυ

Application Fools Disturbance Take (	Canaral (Farn	- 2 200 01\ E0	CED 22 200 /	ODormita) (N	IEM/)						
Application - Eagle Disturbance Take - C	seneral (For	11 3-200-91) 50	CFR 22.200 (			¢40.00	¢010.00				
Individuals - Reporting	5	1	5	4.00	20	\$40.90	\$818.00	\$500	\$2,500		
Individuals - Recordkeeping				1.00	5	40.90	204.50				
Private Sector - Reporting	25	1	25	16.00	400	86.64	34,656.00	2,500	62,500		
Private Sector - Recordkeeping				2.00	50	86.64	4,332.00				
Government - Reporting	8	1	8	16.00	128	55.47	7,100.16	0	0		
Government - Recordkeeping Subtotal	38	•	38	2.00	16 619	55.47	887.52 \$47,998.18	_	\$65,000	0	\$0.00
Amendment - Eagle Disturbance Take -		m 2 200 01\ E0		(NEW)	019		Φ47,990.10	_	\$00,000	U	\$0.00
Individuals - Reporting	General (For	111 3-200-91) 30	CFR 22.200	5.00	5	\$40.90	\$204.50	_			
Individuals - Reporting  Individuals - Recordkeeping	1	1	1	1.00	1	40.90	40.90	\$150	\$150		
Private Sector - Reporting				5.00	5	86.64	433.20				
Private Sector - Recordkeeping	1	1	1	1.00	1	86.64	86.64	500	500		
Government - Reporting				5.00	5	55.47	277.35				
Government - Recordkeeping	1	1	1	1.00	1	55.47	55.47	0	0		
Subtotal	3	•	3	1.00	18	33.47	\$1,098.06	_	<u>\$650</u>	0	\$0.00
Amendment - Eagle Disturbance Take -		m 3-200-91) 50	CFR 22.280	(ePermits) (			+=,			•	75.55
Individuals - Reporting	-	-		4.00	4	\$40.90	\$163.60	4450	4450		
Individuals - Recordkeeping	1	1	1	1.00	1	40.90	40.90	\$150	\$150		
Private Sector - Reporting		4		4.00	4	86.64	346.56	500	500		
Private Sector - Recordkeeping	1	1	1	1.00	1	86.64	86.64	500	500		
Government - Reporting		4		4.00	4	55.47	221.88				
Government - Recordkeeping	1	1	1	1.00	1	55.47	55.47	0	Ü		
Subtotal	3	•	3		15		\$915.05		\$650	0	\$0.00
Transfer - Eagle Disturbance Take - Gen	eral (Form 3	·200-91) 50 CF	R subpart E	(NEW)							
Individuals - Reporting	1	1	1	18.00	18	\$40.90	\$736.20	\$1,000	\$1,000		
Individuals - Recordkeeping	_	-	_	2.00	2	40.90	81.80	Ψ1,000	Ψ1,000		
Private Sector - Reporting	1	1	1	18.00	18	86.64	1,559.52	1,000	1,000		
Private Sector - Recordkeeping	_	-	_	2.00	2	86.64	173.28	1,000	1,000		
Government - Reporting	1	1	1	18.00	18	55.47	998.46	0	0		
Government - Recordkeeping				2.00	2	55.47	110.94				
Subtotal	3	200 04) 50 05	3	ALEI	60		\$3,660.20	_	\$2,000	0	\$0.00
Transfer - Eagle Disturbance Take - Gen	erai (Form 3	·200-91) 50 CF	R 22.280 (eP	- 1		<b>*</b> 40.00	<b>4570.00</b>	_			
Individuals - Reporting	1	1	1	14.00	14	\$40.90	\$572.60	\$1,000	\$1,000		
Individuals - Recordkeeping				2.00	2	40.90	81.80				
Private Sector - Reporting	1	1	1	14.00	14	86.64	1,212.96	1,000	1,000		
Private Sector - Recordkeeping				2.00	2	86.64	173.28				
Government - Reporting	1	1	1	14.00	14	55.47	776.58	0	0		
Government - Recordkeeping Subtotal	3		3	2.00	<u>2</u> 48	55.47	110.94 \$2,928.16	_	\$2,000	0	\$0.00
Application - Eagle Incidental Take (Pow		eneral (Form 3	, and the second	CER 22.260 (			Ψ2,020.10	_	Ψ2,000	Ü	φ0.00
Individuals - Reporting	2	onoral (romio	200 02, 00	5.00	5	\$40.90	\$204.50		<u>St</u>	500 permit fee + S	\$20,000 admin fee
Individuals - Recordkeeping	1	1	1	1.00	1	40.90	40.90	\$20,500	\$20,500	oo pomiii roo	20,000 aaniin 100
Private Sector - Reporting				18.00	162	86.64	14,035.68		\$ <u>\$</u>	500 permit fee + S	\$20,000 admin fee
Private Sector - Recordkeeping	9	1	9	2.00	18	86.64	1,559.52	20,500	184,500		, , , , , , , , , , , , , , , , , , , ,
Government - Reporting				18.00	18	55.47	998.46		\$2	20,000 admin fee	only
Government - Recordkeeping	1	1	1	2.00	2	55.47	110.94	20,000	20000		
Subtotal	11	•	11		206		\$16,950.00		\$225,000	0	\$0.00
Application - Eagle Incidental Take (Pow	er Lines) - G	eneral (Form 3	-200-92) <mark>50</mark> (	CFR 22.260 (e	ePermits) (N	IEW)					
Individuals - Reporting	1	1	1	4.00	4	\$40.90	\$163.60	\$20,500	\$20,500	500 permit fee + \$	\$20,000 admin fee
Individuals - Recordkeeping	1	1	1	1.00	1	40.90	40.90	\$20,500	\$20,500		
Private Sector - Reporting	9	1	9	16.00	144	86.64	12,476.16	20,500	184,500	500 permit fee + \$	\$20,000 admin fee
Private Sector - Recordkeeping	9	1	9	2.00	18	86.64	1,559.52	20,500	104,500		
Government - Reporting	1	1	1	16.00	16	55.47	887.52	20,000	20000 \$2	20,000 admin fee	only

Government - Recordkeeping	1	T	1	2.00	2	55.47	110.94	20,000	20000		
Subtota	al 11		11		185		\$15,238.64		\$225,000	0	\$0.00
<b>Amendment - Eagle Incidental Take</b>	(Power Lines) - Ge	neral (Form	3-200-92) <b>50</b>	CFR 22.260	(NEW)						
Individuals - Reporting	1	1	1	35.00	35	\$40.90	\$1,431.50	\$150	\$150		
Individuals - Recordkeeping	1	1	1	5.00	5	40.90	204.50	\$120	\$150		
Private Sector - Reporting	4	4	4	35.00	35	86.64	3,032.40	500	F00		
Private Sector - Recordkeeping	1	1	1	5.00	5	86.64	433.20	500	500		
Government - Reporting	4	4		35.00	35	55.47	1,941.45				
Government - Recordkeeping	1	1	1	5.00	5	55.47	277.35	0	Ü		
Subtota	al 3		3		120		\$7,320.40		\$650	0	\$0.00
<b>Amendment - Eagle Incidental Take</b>	(Power Lines) - Ge	neral (Form	3-200-92) <b>50</b>	CFR 22.260 (	ePermits) (I	VEW)					
Individuals - Reporting	1	1	1	33.00	33	\$40.90	\$1,349.70	<b>#1</b> F0	ф1 F.O.		
Individuals - Recordkeeping	1	1	1	5.00	5	40.90	204.50	\$150	\$150		
Private Sector - Reporting	4	4	4	33.00	33	86.64	2,859.12	500	F00		
Private Sector - Recordkeeping	1	1	1	5.00	5	86.64	433.20	500	500		
Government - Reporting	1	1	1	33.00	33	55.47	1,830.51	0	0		
Government - Recordkeeping	1	1	1	5.00	5	55.47	277.35	U	U		
Subtota	al 3		3		114		\$6,954.38		\$650	0	\$0.00
Transfer - Eagle Incidental Take (Po	wer Lines) - Genera	al (Form 3-20	0-92) 50 CFR	subpart E (	NEW)						
Individuals - Reporting	1	1	1	18.00	18	\$40.90	\$736.20	\$1,000	\$1,000		
Individuals - Recordkeeping	1	1	1	2.00	2	40.90	81.80	\$1,000	Φ1,000		
Private Sector - Reporting	1	1	1	18.00	18	86.64	1,559.52	1,000	1,000		
Private Sector - Recordkeeping	1	1	1	2.00	2	86.64	173.28	1,000	1,000		
Government - Reporting	1	1	1	18.00	18	55.47	998.46	0	0		
Government - Recordkeeping	1	1	1	2.00	2	55.47	110.94	U	U		
Subtota			3		60		\$3,660.20		\$2,000	0	\$0.00
Transfer - Eagle Incidental Take (Por	wer Lines) - Genera	al (Form 3-20	0-92) 50 CFR	22.260 (ePe	rmits) (NEV	V)					
Individuals - Reporting	1	1	1	14.00	14	\$40.90	\$572.60	\$1,000	\$1,000		
Individuals - Recordkeeping	1	_	_	2.00	2	40.90	81.80	Ψ1,000	Ψ1,000		
Private Sector - Reporting	1	1	1	14.00	14	86.64	1,212.96	1,000	1,000		
Private Sector - Recordkeeping	1	1	_	2.00	2	86.64	173.28	1,000	1,000		
Government - Reporting	1	1	1	14.00	14	55.47	776.58	0	0		
Government - Recordkeeping		1		2.00	2	55.47	110.94	0	0		
Subtota			3		48		\$2,928.16		\$2,000	0	\$0.00
Grand Total	238		238		4,041		\$300,211.17		\$6,347,900		\$0.00

<sup>\*</sup> Rounded to match ROCIS

#1 - Standard BLS Rates

				Completies				Avorana		Ava Times (Ur-)	
	Number of Annual	Number of Responses per	Total Annual	Completion Time/ Response	Annual Burden	Hourly Labor Rate (Incl.	\$ Value of Annual	Average Nonhour Burden Cost	Total Annual Nonhour Burden	Avg. Time (Hrs) per Response for Gov't	Cost to Government
Regulation/Activity	Respondents	Respondent	Responses	(Hours)	Hours*	Benefits)	Burden Hours	(per Response)	Cost	Review	(\$64.24/hour)
Application - Eagle Incidental Take - S	Specific (Form	3-200-71) 50 CF	-R 22.250 (N	•	400	* * * * * * * * * * * * * * * * * * * *	+0=4400				
Individuals - Reporting	1	1	1	160.00	160	\$40.90	\$6,544.00	\$36,000	\$36,000		
Individuals - Recordkeeping				40.00	40	40.90	1,636.00				
Private Sector - Reporting	5	1	5	160.00	800	86.64	69,312.00	36.000	180,000		
Private Sector - Recordkeeping				40.00	200	86.64	17,328.00				
Government - Reporting	1	1	1	160.00	160	55.47	8,875.20	8,000	8,000	*Admin fee only	
Government - Recordkeeping		_		40.00	40	55.47_	2,218.80				****
Subtotal		0 000 74\ 50 00	7		1,400		\$105,914.00		\$224,000	275	\$123,662.00
Application - Eagle Incidental Take - 9	Specific (Form	3-200-71) 50 CI	-R 22.250 (eF			* 40.00	±= === ==				
Individuals - Reporting	1	1	1	140.00	140	\$40.90	\$5,726.00	\$36,000	\$36,000		
Individuals - Recordkeeping				40.00	40	40.90	1,636.00				
Private Sector - Reporting	5	1	5	140.00	700	86.64	60,648.00	36,000	180,000		
Private Sector - Recordkeeping				40.00	200	86.64	17,328.00		,		
Government - Reporting	1	1	1	140.00	140	55.47	7,765.80	8,000	8,000	*Admin fee only	
Government - Recordkeeping		-		40.00	40	55.47_	2,218.80			0.10	±0.4.400.00
Subtotal			7		1,260		\$95,322.60		\$224,000	210	\$94,432.80
Amendment - Eagle Incidental Take -	Specific (Form	3-200-71) 50 C	FR 22.250 (I								
Individuals - Reporting	1	1	1	35.00	35	\$40.90	\$1,431.50	\$150	\$150		
Individuals - Recordkeeping				5.00	5	40.90	204.50		,		
Private Sector - Reporting	1	1	1	35.00	35	86.64	3,032.40	500	500		
Private Sector - Recordkeeping	_	-	_	5.00	5	86.64	433.20	000			
Government - Reporting	1	1	1	35.00	35	55.47	1,941.45	0	0		
Government - Recordkeeping		-		5.00	5	55.47_	277.35	Ü			
Subtota			3		120		\$7,320.40		\$650	8	\$1,541.76
Amendment - Eagle Incidental Take -	Specific (Form	3-200-71) 50 C	FR 22.250 (e								
Individuals - Reporting	1	1	1	33.00	33	\$40.90	\$1,349.70	\$150	\$150		
Individuals - Recordkeeping				5.00	5	40.90	204.50		,		
Private Sector - Reporting	1	1	1	33.00	33	86.64	2,859.12	500	500		
Private Sector - Recordkeeping				5.00	5	86.64	433.20				
Government - Reporting	1	1	1	33.00	33	55.47	1,830.51	0	0		
Government - Recordkeeping		_		5.00	5	55.47_	277.35	_			
Subtotal			3		114		\$6,954.38		\$650	7.5	\$1,445.40
Transfer - Eagle Incidental Take - Spe	ecific (Form 3-2	00-71) 50 CFR s	subpart E (M								
Individuals - Reporting	1	1	1	18.00	18	\$40.90	\$736.20	\$1,000	\$1,000		
Individuals - Recordkeeping				2.00	2	40.90	81.80	. ,	, ,		
Private Sector - Reporting	1	1	1	18.00	18	86.64	1,559.52	1,000	1,000		
Private Sector - Recordkeeping				2.00	2	86.64	173.28	_,,,,,	_,		
Government - Reporting	1	1	1	18.00	18	55.47	998.46	0	0		
Government - Recordkeeping		-		2.00	2	55.47_	110.94				
Subtotal		00 74) 70 07-	3		60		\$3,660.20		\$2,000	10	\$1,927.20
Transfer - Eagle Incidental Take - Spe	ecific (Form 3-2	00-71) 50 CFR	subpart E (el								
Individuals - Reporting	1	1	1	14.00	14	\$40.90	\$572.60	\$1,000	\$1,000		
Individuals - Recordkeeping				2.00	2	40.90	81.80				
Private Sector - Reporting	1	1	1	14.00	14	86.64	1,212.96	1 000	1,000		
Private Sector - Recordkeeping				2.00	2	86.64	173.28				
Government - Reporting	1	1	1	14.00	14	55.47	776.58	()	0		
Government - Recordkeeping		-		2.00	2	55.47_	110.94			_	
Subtota	I 3		3		48		\$2,928.16		\$2,000	9.5	\$1,830.84

Application - Eagle Nest Take - Specific	: (Form 3-200-	72) 50 CFR 22	2.300 (MODI	FIED)							
Individuals - Reporting	•	•		35.00	35	\$40.90	\$1,431.50	_			
Individuals - Recordkeeping	1	1	1	5.00	5	40.90	204.50	\$500	\$500		
Private Sector - Reporting				35.00	105	86.64	9,097.20				
Private Sector - Recordkeeping	3	1	3	5.00	15	86.64	1,299.60	500	1,500		
Government - Reporting				35.00	35	55.47	1,941.45				
Government - Recordkeeping	1	1	1	5.00	5	55.47 55.47	277.35	0	0		
Subtotal	5	•	5	5.00	200	. 55.47	\$14,251.60		\$2,000	40	\$12,848.00
Application - Eagle Nest Take - Specific		72) 50 CER 22		ts) (MODIFI			Ψ14,201.00	_	Ψ2,000	70	Ψ12,040.00
Individuals - Reporting	) (i 0iiii 0 200	-		33.00	33	\$40.90	\$1,349.70				
Individuals - Recordkeeping	1	1	1	5.00	5	40.90	204.50	\$500	\$500		
Private Sector - Reporting				33.00	99	86.64	8,577.36				
Private Sector - Recordkeeping	3	1	3	5.00	15	86.64	1,299.60	500	1,500		
Government - Reporting				33.00	33	55.47	1,830.51				
Government - Recordkeeping	1	1	1	5.00	5	55.47	277.35	0	0		
Subtotal	5		5	0.00	190		\$13,539.02		\$2,000	38	\$12,205.60
Amendment - Eagle Nest Take - Specifi		-72) 50 CFR 2	-	IFIED)			, ,,,,,,,,,		,=,==3		, .=,=:::00
Individuals - Reporting				17.00	17	\$40.90	\$695.30				
Individuals - Recordkeeping	1	1	1	3.00	3	40.90	122.70	\$150	\$150		
Private Sector - Reporting				17.00	17	86.64	1,472.88				
Private Sector - Recordkeeping	1	1	1	3.00	3	86.64	259.92	500	500		
Government - Reporting				17.00	17	55.47	942.99				
Government - Recordkeeping	1	1	1	3.00	3	55.47	166.41	0	0		
Subtotal	3	•	3	0.00	60		\$3,660.20		\$650	8	\$1,541.76
Amendment - Eagle Nest Take - Specifi	c (Form 3-200	-72) 50 CFR 2	2.300 (ePerm	its) (MODIF	IED)						
Individuals - Reporting	4	4	4	13.00	13	\$40.90	\$531.70	<b>4150</b>	<b>4450</b>		
Individuals - Recordkeeping	1	1	1	3.00	3	40.90	122.70	\$150	\$150		
Private Sector - Reporting	1	1	1	13.00	13	86.64	1,126.32	F00	F00		
Private Sector - Recordkeeping	1	1	1	3.00	3	86.64	259.92	500	500		
Government - Reporting	1	1	1	13.00	13	55.47	721.11	0	0		
Government - Recordkeeping	1		1	3.00	3	55.47	166.41	U .	U		
Subtotal	3		3		48		\$2,928.16		\$650	7.5	\$1,445.40
Transfer - Eagle Nest Take - Specific (F	orm 3-200-72)	50 CFR subp	art E <i>(NEW)</i>								
Individuals - Reporting	1	1	1	18.00	18	\$40.90	\$736.20	\$1,000	\$1,000		
Individuals - Recordkeeping	-	-	-	2.00	2	40.90	81.80	Ψ1,000	Ψ1,000		
Private Sector - Reporting	1	1	1	18.00	18	86.64	1,559.52	1,000	1,000		
Private Sector - Recordkeeping	-	-	_	2.00	2	86.64	173.28	1,000	1,000		
Government - Reporting	1	1	1	18.00	18	55.47	998.46	0	0		
Government - Recordkeeping				2.00	2	55.47	110.94				
Subtotal	3		3	(2.171.40)	60		\$3,660.20		\$2,000	10	\$1,927.20
Transfer - Eagle Nest Take - Specific (F	orm 3-200-72)	50 CFR subp	art E (ePermi								
Individuals - Reporting	1	1	1	14.00	14	\$40.90	\$572.60	\$1,000	\$1,000		
Individuals - Recordkeeping				2.00	2	40.90	81.80				
Private Sector - Reporting	1	1	1	14.00	14	86.64	1,212.96	1,000	1,000		
Private Sector - Recordkeeping				2.00	2	86.64	173.28				
Government - Reporting	1	1	1	14.00	14	55.47	776.58	0	0		
Government - Recordkeeping			3	2.00	2	55.47	110.94		<b>#2.000</b>	0.5	¢1,000,04
Subtotal Application Foods Disturbance Take	Specific (Form	n 2 200 04\ F0		(NEW)	48		\$2,928.16		\$2,000	9.5	\$1,830.84
Application - Eagle Disturbance Take -	Specific (Forr	11 3-200-91) 50	CFR 22.280		160	¢40.00	¢6 E44 00				
Individuals - Reporting	1	1	1	160.00	160	\$40.90	\$6,544.00	\$500	\$500		
Individuals - Recordkeeping				40.00	40	40.90	1,636.00				
Private Sector - Reporting	6	1	6	160.00	960	86.64	83,174.40	2,500	15,000		
Private Sector - Recordkeeping				40.00	240	86.64	20,793.60				
Government - Reporting	3	1	2	160.00	480	55.47	26,625.60	0	0		

Government - Recordkeeping	3	1	•	40.00	120	55.47	6,656.40	U	U		
Subtotal	10	1	0		2,000		\$145,430.00		\$15,500	40	\$25,696.00
Application - Eagle Disturbance Take - S	Specific (Form 3-20	0-91) 50 CFR 2	2.280 (	ePermits) (/\	IEW)			_			
Individuals - Reporting	1	1 1		140.00	140	\$40.90	\$5,726.00	\$500	\$500		
Individuals - Recordkeeping	-	_	•	40.00	40	40.90	1,636.00	Ψ000	φοσσ		
Private Sector - Reporting	6	1 6	3	140.00	840	86.64	72,777.60	2,500	15,000		
Private Sector - Recordkeeping	· ·	_		40.00	240	86.64	20,793.60	2,000	20,000		
Government - Reporting	3	1 3	3	140.00	420	55.47	23,297.40	0	0		
Government - Recordkeeping				40.00	120	55.47	6,656.40		445.500		40.4.4.00
Subtotal Sistember Tale	10		0	(0.15147)	1,800		\$130,887.00	_	\$15,500	38	\$24,411.20
Amendment - Eagle Disturbance Take -	Specific (Form 3-20	10-91) 50 CFR 2	2.280		OF.	¢40.00	#1 401 FO	_			
Individuals - Reporting	1	1 1	L	35.00	35 5	\$40.90	\$1,431.50	\$150	\$150		
Individuals - Recordkeeping				5.00		40.90	204.50				
Private Sector - Reporting  Private Sector - Recordkeeping	1	1 1	L	35.00 5.00	35 5	86.64 86.64	3,032.40 433.20	500	500		
Government - Reporting				35.00	35	55.47	1,941.45				
Government - Recordkeeping	1	1 1	L	5.00	5	55.47 55.47	277.35	0	0		
Subtotal	3	3	?	3.00	120		\$7,320.40		<u>\$650</u>	8	\$1,541.76
Amendment - Eagle Disturbance Take -				(ePermits) (			Ψ1,020.40	_	φοσο		Ψ1,541.70
Individuals - Reporting	- Commo (1 - Commo - 2 - Commo			33.00	33	\$40.90	\$1,349.70				
Individuals - Recordkeeping	1	1 1	L	5.00	5	40.90	204.50	\$150	\$150		
Private Sector - Reporting				33.00	33	86.64	2,859.12				
Private Sector - Recordkeeping	1	1 1	L	5.00	5	86.64	433.20	500	500		
Government - Reporting				33.00	33	55.47	1,830.51				
Government - Recordkeeping	1	1 1	L	5.00	5	55.47	277.35	0	0		
Subtotal	3		3		114		\$6,954.38		\$650	7.5	\$1,445.40
Transfer - Eagle Disturbance Take - Spe	cific (Form 3-200-9:	1) 50 CFR 22.28	30 <i>(NE</i>	EW)							
Individuals - Reporting	1	1 1		18.00	18	\$40.90	\$736.20	\$1,000	\$1,000		
Individuals - Recordkeeping	1	1 1	<b>L</b>	2.00	2	40.90	81.80	\$1,000	\$1,000		
Private Sector - Reporting	1	1 1		18.00	18	86.64	1,559.52	1,000	1,000		
Private Sector - Recordkeeping	_		•	2.00	2	86.64	173.28	1,000	1,000		
Government - Reporting	1	1 1		18.00	18	55.47	998.46	0	0		
Government - Recordkeeping				2.00	2	55.47	110.94	<u> </u>			
Subtotal	3		3		60		\$3,660.20		\$2,000	10	\$1,927.20
Transfer - Eagle Disturbance Take - Spe	cific (Form 3-200-9	1) 50 CFR 22.28	30 (ePe			440.00	4550.00				
Individuals - Reporting	1	1 1	L	14.00	14	\$40.90	\$572.60	\$1,000	\$1,000		
Individuals - Recordkeeping				2.00	2	40.90	81.80				
Private Sector - Reporting	1	1 1	L	14.00	14	86.64	1,212.96	1,000	1,000		
Private Sector - Recordkeeping Government - Reporting				2.00 14.00	2 14	86.64 55.47	173.28 776.58				
Government - Recordkeeping	1	1 1	L	2.00	2	55.47	110.94	0	0		
Subtotal	3		?	2.00	48	. 55.47	\$2,928.16		\$2,000	9.5	\$1,830.84
Application - Eagle Incidental Take (Pow				ER 22.260 (			Ψ2,320.10	_	Ψ2,000	3.3	Ψ1,000.04
Individuals - Reporting	tor Emico, Opcome	(1 01111 0 200 0	_, 00 0	160.00	160	\$40.90	\$6,544.00				
Individuals - Recordkeeping	1	1 1	L	40.00	40	40.90	1,636.00	\$500	\$500		
Private Sector - Reporting				160.00	800	86.64	69,312.00				
Private Sector - Recordkeeping	5	1 5	5	40.00	200	86.64	17,328.00	2,500	12,500		
Government - Reporting				160.00	160	55.47	8,875.20				
Government - Recordkeeping	1	1 1	L	40.00	40	55.47	2,218.80	0	0		
Subtotal Subtotal	7	7	7		1,400		\$105,914.00	_	\$13,000	275	\$123,662.00
Application - Eagle Incidental Take (Pov	ver Lines) - Specific	(Form 3-200-9	2) 50 C	CFR 22.260 (e	Permits) (/	IEW)					
Individuals - Reporting	1	1		140.00	140	\$40.90	\$5,726.00	<b>\$</b> E00	<b>#</b> E00		
Individuals - Recordkeeping	1	1 1	-	40.00	40	40.90	1,636.00	\$500	\$500		
Private Sector - Reporting	0	1	,	140.00	1,260	86.64	109,166.40	2 500	22 500		

9	9					۷,500	22,500		
Private Sector - Recordkeeping		40.00	360	86.64	31,190.40	_,555	,		
Government - Reporting 1 1	1	140.00	140	55.47	7,765.80	0	0		
Government - Recordkeeping		40.00	40	55.47	2,218.80	<u> </u>			
Subtotal 11	11		1,980		\$157,703.40		\$23,000	210	\$148,394.40
Amendment - Eagle Incidental Take (Power Lines) - Specific (Forn	1 3-200-92) 50	CFR 22.260	(NEW)						
Individuals - Reporting $1$ 1	1	35.00	35	\$40.90	\$1,431.50	\$150	\$150		
Individuals - Recordkeeping	_	5.00	5	40.90	204.50	Ψ130	Ψ130		
Private Sector - Reporting 1 1	1	35.00	35	86.64	3,032.40	500	500		
Private Sector - Recordkeeping	1	5.00	5	86.64	433.20	500	500		
Government - Reporting 1 1	1	35.00	35	55.47	1,941.45	0	0		
Government - Recordkeeping	1	5.00	5	55.47	277.35	U	U		
Subtotal 3	3		120		\$7,320.40		\$650	8	\$1,541.76
Amendment - Eagle Incidental Take (Power Lines) - Specific (Forn	3-200-92) 50	CFR 22.260 (	ePermits) (	NEW)					
Individuals - Reporting	4	33.00	33	\$40.90	\$1,349.70	<b>#150</b>	<b>0150</b>		
Individuals - Recordkeeping 1 1	1	5.00	5	40.90	204.50	\$150	\$150		
Private Sector - Reporting		33.00	33	86.64	2,859.12	500	500		
Private Sector - Recordkeeping 1 1	1	5.00	5	86.64	433.20	500	500		
Government - Reporting		33.00	33	55.47	1,830.51				
Government - Recordkeeping 1 1	1	5.00	5	55.47	277.35	U	Ü		
Subtotal 3	3		114		\$6,954.38		\$650	7.5	\$1,445.40
Transfer - Eagle Incidental Take (Power Lines) - Specific (Form 3-2	200-92) 50 CF	R 22.260 (NE	W)						
Individuals - Reporting		18.00	18	\$40.90	\$736.20	44.000	44.000		
Individuals - Recordkeeping	1	2.00	2	40.90	81.80	\$1,000	\$1,000		
Private Sector - Reporting		18.00	18	86.64	1,559.52				
Private Sector - Recordkeeping	1	2.00	2	86.64	173.28	1,000	1,000		
Government - Reporting		18.00	18	55.47	998.46				
Government - Recordkeeping 1 1	1	2.00	2	55.47	110.94	0	0		
Subtotal 3	3		60		\$3,660.20		\$2,000	10	\$1,927.20
Transfer - Eagle Incidental Take (Power Lines) - Specific (Form 3-2	200-92) 50 CF	R 22.260 (ePe	rmits) <i>(NE</i> V	V)					
Individuals - Reporting		14.00	14	\$40.90	\$572.60				
Individuals - Recordkeeping	1	2.00	2	40.90	81.80	\$1,000	\$1,000		
Private Sector - Reporting		14.00	14	86.64	1,212.96				
Private Sector - Recordkeeping	1	2.00	2	86.64	173.28	1,000	1,000		
Government - Reporting		14.00	14	55.47	776.58				
Government - Recordkeeping 1 1	1	2.00	2	55.47	110.94	0	0		
Subtotal 3	3		48		\$2,928.16		\$2,000	9.5	\$1,830.84
Grand Total 110	110		11,472		\$844,727.76		\$540,200		\$592,292.80

<sup>\*</sup> Rounded to match ROCIS

#1 - Standard BLS Rates

D		

Regulation/Activity	Number of Annual Respondents	Number of Responses per Respondent	Total Annual Responses	Completion Time/ Response (Hours)	Annual Burden Hours*	Hourly Labor Rate (Incl. Benefits)	\$ Value of Annual Burden Hours	Average Nonhour Burden Cost (per Response)	Total Annual Nonhour Burden Cost	Avg. Time (Hrs) per Response for Gov't Review	Cost to Government (\$64.24/hour)
Application - Eagle Exhibition Permi	it (Form 3-200-14	) 50 CFR 22									
Individuals - Reporting	0	1	0	5.00	0	\$40.90	\$0.00	\$75	\$0		
Individuals - Recordkeeping	U	1	U	0.50	0	40.90	0.00	\$10	Φ0		
Private Sector - Reporting	15	1	15	5.00	75	38.61	2,895.75	75	1 105		
Private Sector - Recordkeeping	15	1	15	0.50	8	38.61	308.88	75	1,125		
Government - Reporting	F	4	-	5.00	25	55.47	1,386.75	0	0		
Government - Recordkeeping	5	1	5	0.50	3	55.47	166.41	0	Ü		
Subtota	al 20	-	20		111	_	\$4,757.79		\$1,125	4	\$5,139.20
<b>Application - Eagle Exhibition Perm</b>	it (Form 3-200-14	) 50 CFR 22 (e	Permits)								
Individuals - Reporting	0	4	0	4.50	0	\$40.90	\$0.00	<b>#7</b> 5	ф0		
Individuals - Recordkeeping	0	1	0	0.50	0	40.90	0.00	\$75	\$0		
Private Sector - Reporting				4.50	338	38.61	13,050.18				
Private Sector - Recordkeeping	75	1	75	0.50	37	38.61	1,428.57	75	5,625		
Government - Reporting				4.50	113	55.47	6,268.11				
Government - Recordkeeping	25	1	25	0.50	12	55.47	665.64	0	0		
Subtota	al 100	-	100	0.00	500		\$21,412.50		\$5,625	3.5	\$22,484.00
Amendment - Eagle Exhibition Perm		4) 50 CFR 22 (					7-2, -2-0		70,020		<del>,</del>
Individuals - Reporting	(. 0 0 _00 _	.,	,,_,,	2.50	0	\$40.90	\$0.00				
Individuals - Recordkeeping	0	1	0	0.25	0	40.90	0.00	\$0	\$0		
Private Sector - Reporting				2.50	3	38.61	115.83				
	1	1	1	0.25	0	38.61	0.00	0	0		
Private Sector - Recordkeeping					3						
Government - Reporting	1	1	1	2.50	0	55.47	166.41	0	0		
Government - Recordkeeping  Subtota	al 2	-	2	0.25	6	55.47_	0.00 \$282.24		\$0	4	\$513.92
Amendment - Eagle Exhibition Perm		4) E0 CED 22 (4	<del>-</del>	EM/)	0		<b>Φ202.24</b>		Φυ	4	φ313.92
	iit (F01111 3-200-1	4) 50 CFR 22 (	rennis) (ivi	•	0	<b>#40.00</b>	ф0.00				
Individuals - Reporting	0	1	0	2.25	0	\$40.90	\$0.00	\$0	\$0		
Individuals - Recordkeeping				0.25	0	40.90	0.00				
Private Sector - Reporting	1	1	1	2.25	3	38.61	115.83	0	0		
Private Sector - Recordkeeping				0.25	0	38.61	0.00				
Government - Reporting	1	1	1	2.25	3	55.47	166.41	0	0		
Government - Recordkeeping		-		0.25	0	55.47_	0.00				
Subtota			2		6	000 45 ) 50 0	\$282.24		\$0	3.5	\$449.68
Application - Eagle Parts for Native	American Religio	ous Purposes -	Permit Applic								
Individuals - Reporting	1,200	1	1,200	1.50	1,800	\$40.90	\$73,620.00	\$0	\$0		
Individuals - Recordkeeping				0.50	600	40.90	24,540.00				
Private Sector - Reporting	0	1	0	1.50	0	38.61	0.00	0	0		
Private Sector - Recordkeeping				0.50	0	38.61	0.00				
Government - Reporting	0	1	0	1.50	0	55.47	0.00	0	0		
Government - Recordkeeping			-	0.50	0	55.47_	0.00				
Subtota			1,200		2,400	000 45 \ 50 0	\$98,160.00		\$0	2	\$154,176.00
Application - Eagle Parts for Native	American Religio	ous Purposes -	Permit Applic								
Individuals - Reporting	1,200	1	1,200	0.60	720	\$40.90	\$29,448.00	\$0	\$0		
Individuals - Recordkeeping				0.20	240	40.90	9,816.00				
Private Sector - Reporting	0	1	0	0.60	0	38.61	0.00	U	0		
Private Sector - Recordkeeping				0.20	0	38.61	0.00				
Government - Reporting	0	1	0	0.60	0	55.47	0.00	OI	0		
Government - Recordkeeping				0.20	0	55.47_	0.00				
Subtota			1,200		960		\$39,264.00		\$0	1.5	\$115,632.00
Amendment - Eagle Parts for Native	American Religi	ous Purposes	Permit Appli	ication and O	rder (Form	3-200-15a)2 <mark>(N</mark> I	EW)				

Individuals - Reporting	1	1	1	0.50	1	\$40.90	\$40.90	\$0	\$0		
Individuals - Recordkeeping	_	_	_	0.25	0	40.90	0.00	ΨΟ	ΨΟ		
Private Sector - Reporting	0	1	0	0.50	0	38.61	0.00	0	0		
Private Sector - Recordkeeping	0	1	0	0.25	0	38.61	0.00	U	U		
Government - Reporting	_	_		0.50	0	55.47	0.00				
Government - Recordkeeping	0	1	0	0.25	0	55.47	0.00	0	0		
Subtota	a/ 1		1		1		\$40.90		\$0	4	\$256.96
Amendment - Eagle Parts for Native	American Religio	us Purposes	- Permit Appl	ication and C	rder (Form :	3-200-15a) <i>(ePerm</i>	nits) (NEW)				
Individuals - Reporting		•		0.33	Ô	\$40.90	\$0.00				
Individuals - Recordkeeping	1	1	1	0.10	0	40.90	0.00	\$0	\$0		
Private Sector - Reporting				0.33	0	38.61	0.00				
Private Sector - Recordkeeping	0	1	0	0.33	0	38.61	0.00	0	0		
, ,					0						
Government - Reporting	0	1	0	0.33	-	55.47	0.00	0	0		
Government - Recordkeeping			- 1	0.10	0	55.47	0.00 \$0.00	_	\$0	2.5	¢224.04
Subtota Application - Take of Depredating Ea		that Doco a D	ick to Human	or Eagle Hea	Ū	(Form 2 200 16)		_	\$0	3.5	\$224.84
	agies and Eagles	illai Puse a R	isk to numan		0		\$0.00	_			
Individuals - Reporting	0	1	0	3.00	0	\$40.90		\$100	\$0		
Individuals - Recordkeeping				0.50		40.90	0.00				
Private Sector - Reporting	10	1	10	3.00	30	38.61	1,158.30	100	1,000		
Private Sector - Recordkeeping				0.50	5	38.61	193.05				
Government - Reporting	10	1	10	3.00	30	55.47	1,664.10	0	0		
Government - Recordkeeping		_		0.50	5	55.47	277.35				
Subtota			20		70		\$3,292.80		\$1,000	4	\$5,139.20
Application - Take of Depredating Ea	agies and Eagles	tnat Pose a R	isk to Human	_	_	-	•	ts)			
Individuals - Reporting	0	1	0	2.50	0	\$40.90	\$0.00	\$100	\$0		
Individuals - Recordkeeping				0.50	0	40.90	0.00				
Private Sector - Reporting	10	1	10	2.50	25	38.61	965.25	100	1,000		
Private Sector - Recordkeeping		_		0.50	5	38.61	193.05		_,		
Government - Reporting	10	1	10	2.50	25	55.47	1,386.75	0	0		
Government - Recordkeeping		-		0.50	5	55.47	277.35	<u> </u>			
Subtota			20		60		\$2,822.40		\$1,000	3.5	\$4,496.80
Amendment - Take of Depredating E	agles and Eagles	that Pose a F	Risk to Humai	or Eagle He	alth or Safet						
Individuals - Reporting	0	1	0	1.00	0	\$40.90	\$0.00	\$0	\$0		
Individuals - Recordkeeping	Ü	-	o o	0.25	0	40.90	0.00	ΨΟ	ΨΟ		
Private Sector - Reporting	1	1	1	1.00	1	38.61	38.61	0	0		
Private Sector - Recordkeeping	1	1	_	0.25	0	38.61	0.00	U	U		
Government - Reporting	1	1	1	1.00	1	55.47	55.47	0	0		
Government - Recordkeeping	1	1	1	0.25	0	55.47	0.00	U	U		
Subtota	al 2		2		2		\$94.08		\$0	4	\$513.92
Amendment - Take of Depredating E	agles and Eagles	that Pose a F	Risk to Humaı	or Eagle He	alth or Safet	y (Form 3-200-16)	50 CFR 22 (ePerm	its) (NEW)			
Individuals - Reporting	0	1	0	0.75	0	\$40.90	\$0.00	\$0	\$0		
Individuals - Recordkeeping	U	1	U	0.25	0	40.90	0.00	Ψ0	Φ0		
Private Sector - Reporting	4	4	4	0.75	1	38.61	38.61				
Private Sector - Recordkeeping	1	1	1	0.25	0	38.61	0.00	0	U		
Government - Reporting				0.75	1	55.47	55.47				
Government - Recordkeeping	1	1	1	0.25	0	55.47	0.00	0	0		
Subtota	$al {2}$		2		2		\$94.08		\$0	3.5	\$449.68
Application - Take of Golden Eagle N		ource Develo	pment or Rec	overy (Form 3		CFR 22					
Individuals - Reporting				9.00	0	\$40.90	\$0.00	<b>4400</b>			
Individuals - Recordkeeping	0	1	0	1.00	0	40.90	0.00	\$100	\$0		
Private Sector - Reporting				9.00	18	38.61	694.98				
Private Sector - Recordkeeping	2	1	2	1.00	2	38.61	77.22	100	200		
···· · · · · · · · · · · · · · · ·											
Government - Reporting				9.00	9	55.47	499.23				
Government - Reporting Government - Recordkeeping	1	1	1	9.00 1.00	9 1	55.47 55.47	499.23 55.47	0	0		

Subtotal Subtotal	3		3		30		\$1,326.90		\$200	20	\$3,854.40
Application - Take of Golden Eagle Nes	sts (Form 3-200	0-18) 50 CFR 2	22 (ePermits)								
Individuals - Reporting	0	1	0	7.00	0	\$40.90	\$0.00	\$100	\$0		
Individuals - Recordkeeping	O	1	O	1.00	0	40.90	0.00	Φ100	ΨΟ		
Private Sector - Reporting	2	1	2	7.00	14	38.61	540.54	100	200		
Private Sector - Recordkeeping	_	_	_	1.00	2	38.61	77.22	100	200		
Government - Reporting	1	1	1	7.00	7	55.47	388.29	0	0		
Government - Recordkeeping		-		1.00	1	55.47	55.47	<u> </u>			
Subtotal	3		3		24		\$1,061.52		\$200	19	\$3,661.68
Amendment - Take of Golden Eagle Ne	sts (Form 3-20	0-18) 50 CFR	22 (NEVV)			***	40.00	_			
Individuals - Reporting	0	1	0	5.00	0	\$40.90	\$0.00	\$50	\$0		
Individuals - Recordkeeping				0.50	0	40.90	0.00				
Private Sector - Reporting	1	1	1	5.00	5	38.61	193.05	50	50		
Private Sector - Recordkeeping				0.50	1	38.61	38.61				
Government - Reporting	1	1	1	5.00	5	55.47	277.35	0	0		
Government - Recordkeeping Subtotal	2		2	0.50	<u> </u>	55.47	55.47 \$564.48	_	<u>\$50</u>	4	\$513.92
Amendment - Take of Golden Eagle Ne		∩-18\ 50 CEP		(NEW)	12		\$304.40	_	φ50	4	φ313.92
Individuals - Reporting	313 (FUIII 3-20	0-10) 30 CFK	ZZ (erennis)	4.50	0	\$40.90	\$0.00				
Individuals - Recordkeeping	0	1	0	0.50	0	40.90	0.00	\$50	\$0		
Private Sector - Reporting				4.50	5	38.61	193.05				
Private Sector - Recordkeeping	1	1	1	0.50	0	38.61	0.00	50	50		
Government - Reporting				4.50	5	55.47	277.35				
Government - Recordkeeping	1	1	1	0.50	0	55.47	0.00	0	0		
Subtotal	2		2	0.00	10		\$470.40		\$50	3.5	\$449.68
<b>Application - Native American Eagle Ta</b>	ke (Form 3-20	0-77) 50 CFR	22								
Individuals - Reporting	0	1	0	8.00	0	\$40.90	\$0.00	\$0	\$0		
Individuals - Recordkeeping	O	1	O	2.00	0	40.90	0.00	ΨΟ	ΨΟ		
Private Sector - Reporting	0	1	0	8.00	0	86.64	0.00	0	0		
Private Sector - Recordkeeping	O	1	O	2.00	0	86.64	0.00	U	O		
Government - Reporting	2	1	2	8.00	16	55.47	887.52	0	0		
Government - Recordkeeping		-		2.00	4	55.47	221.88				
Subtotal	2	0 77) FO OFD	2		20		\$1,109.40		\$0	20	\$2,569.60
Application - Native American Eagle Ta	ike (Form 3-20	U-77) 50 CFR	22 (ePermits)	7.00	0	<b>#40.00</b>	<b>#0.00</b>				
Individuals - Reporting	0	1	0	7.00	0	\$40.90	\$0.00	\$0	\$0		
Individuals - Recordkeeping				2.00 7.00	0	40.90 86.64	0.00 0.00				
Private Sector - Reporting Private Sector - Recordkeeping	0	1	0	2.00	0	86.64	0.00	0	0		
Government - Reporting				7.00	14	55.47	776.58				
Government - Recordkeeping	2	1	2	2.00	4	55.47	221.88	0	0		
Subtotal	2		2	2.00	18		\$998.46	_	\$0	19	\$2,441.12
Amendment - Native American Eagle T	ake (Form 3-20	0-77) 50 CFR	22 (NEW)								
Individuals - Reporting	-	•		5.00	0	\$40.90	\$0.00	40	**		
Individuals - Recordkeeping	0	1	0	0.50	0	40.90	0.00	\$0	\$0		
Private Sector - Reporting	0	4	0	5.00	0	38.61	0.00	0	0		
Private Sector - Recordkeeping	0	1	0	0.50	0	38.61	0.00	0	U		
Government - Reporting	1	1	1	5.00	5	55.47	277.35	0	0		
Government - Recordkeeping	1	1	1	0.50	1	55.47	55.47	U			
Subtotal	1		1		6		\$332.82		\$0	4	\$256.96
Amendment - Native American Eagle T	ake (Form 3-20	00-77) 50 CFR	22 (ePermits								
Individuals - Reporting	0	1	0	4.50	0	\$40.90	\$0.00	\$0	\$0		
Individuals - Recordkeeping	- J	-		0.50	0	40.90	0.00	40	43		
Private Sector - Reporting	0	1	0	4.50	0	38.61	0.00	0	0		
Private Sector - Recordkeeping				0.50	0	38.61	0.00				

Covernment Departing				4.50	Г	FF 47	277.25				
Government - Reporting Government - Recordkeeping	1	1	1	4.50 0.50	5 0	55.47	277.35 0.00	0	0		
Government - Recordiceeping	Subtotal 1		1	0.50	5	55.47	\$277.35		\$0	3.5	\$224.84
Application - Native American		00-78) 50 CFI			3		Ψ211.00		ΨΟ	3.3	ΨΖΣ4.04
Individuals - Reporting		-		17.00	0	\$40.90	\$0.00				
Individuals - Recordkeeping	0	1	0	3.00	0	40.90	0.00	\$0	\$0		
Private Sector - Reporting				17.00	0	38.61	0.00				
Private Sector - Recordkeeping	0	1	0	3.00	0	38.61	0.00	0	0		
Government - Reporting				17.00	34	55.47	1,885.98				
Government - Recordkeeping	2	1	2	3.00	6	55.47	332.82	0	0		
	Subtotal 2		2		40		\$2,218.80		\$0	12	\$1,541.76
<b>Application - Native American</b>	Eagle Aviary (Form 3-2	00-78) 50 CFF	R 22 (ePermit	s)							
Individuals - Reporting	0	1	0	16.00	0	\$40.90	\$0.00	\$0	\$0		
Individuals - Recordkeeping	U	1	U	3.00	0	40.90	0.00	ΨΟ	Ψ0		
Private Sector - Reporting	0	1	0	16.00	0	38.61	0.00	0	0		
Private Sector - Recordkeeping	0	1	U	3.00	0	38.61	0.00	U	U		
Government - Reporting	3	1	3	16.00	48	55.47	2,662.56	0	0		
Government - Recordkeeping		1	3	3.00	9	55.47	499.23	U	U		
	Subtotal 3		3		57		\$3,161.79		\$0	11.5	\$2,216.28
Amendment - Native America	n Eagle Aviary (Form 3-	200-78) 50 CF	R 22 <i>(NEW)</i>								
Individuals - Reporting	0	1	0	5.00	0	\$40.90	\$0.00	\$0	\$0		
Individuals - Recordkeeping	· ·	-	ŭ	0.50	0	40.90	0.00	Ψ0	Ψ0		
Private Sector - Reporting	0	1	0	5.00	0	38.61	0.00	0	0		
Private Sector - Recordkeeping	Ŭ	-	ŭ	0.50	0	38.61	0.00	J.	Ü		
Government - Reporting	1	1	1	5.00	5	55.47	277.35	0	0		
Government - Recordkeeping		-		0.50	1	55.47	55.47				
	Subtotal 1	>	1	(0.15141)	6		\$332.82	_	\$0	4	\$256.96
Amendment - Native America	n Eagle Aviary (Form 3-	200-78) 50 CF	R 22 (ePermi		0	<b>#40.00</b>	<b>#0.00</b>				
Individuals - Reporting	0	1	0	4.50	0	\$40.90	\$0.00	\$0	\$0		
Individuals - Recordkeeping				0.50	0	40.90	0.00				
Private Sector - Reporting	0	1	0	4.50	0	38.61	0.00	0	0		
Private Sector - Recordkeeping				0.50	0	38.61	0.00				
Government - Reporting	1	1	1	4.50 0.50	5 0	55.47 55.47	277.35 0.00	0	0		
Government - Recordkeeping	Subtotal 1		1	0.50	5	55.47	\$277.35		\$0	3.5	\$224.84
Application - Eagle Transport		50 CFR 22	_		J		Ψ211.00	_	ΨΟ	0.0	Ψ224.04
Individuals/Households	0	1	0	1.00	0	\$40.90	\$0.00	\$75	\$0		
Private Sector	1	1	1	1.00	1	38.61	38.61	75	75		
State/Local/Tribal	1	1	1	1.00	1	55.47	55.47	0	0		
	Subtotal 2		2		2		\$94.08		\$75	4	\$513.92
Application - Eagle Transport											
Individuals/Households	0	1	0	0.75	0	\$40.90	\$0.00	\$75	<b>\$</b> 0		
Private Sector	1	1	1	0.75	1	38.61	38.61	75	75		
State/Local/Tribal	Subtotal 2	1	2	0.75	2	55.47	55.47 \$94.08	0	\$75	3.5	\$449.68
Amendment - Eagle Transpor		50 CEP 22 (	_		2		φ34.00		φ/3	3.3	φ449.00
Individuals/Households	0	1	0	0.50	0	\$40.90	\$0.00	\$0	\$0		
Private Sector	1	1	1	0.50	1	38.61	38.61	0	0		
State/Local/Tribal	1	1	1	0.50	1	55.47	55.47	0	0		
	Subtotal 2		2		2		\$94.08		\$0	1	\$128.48
<b>Amendment - Eagle Transpor</b>	t Permit (Form 3-200-82)	50 CFR 22 (6	ePermits) (N	EW)							
Individuals/Households	0	1	0	0.33	0	\$40.90	\$0.00	\$0	\$0		
Private Sector	1	1	1	0.33	0	38.61	0.00	0	0		
State/Local/Tribal	1	1	1	0.33	0	55.47	0.00	0	0	0.77	400.55
	Subtotal 2		2		0		\$0.00		\$0	0.75	\$96.36

Grand Total	2,628		2,628		5,056		\$225,110.49		\$13,900		\$336,328.52
Subtotal	3		3		18		\$1,098.06		\$0	4	\$770.88
Government - Recordkeeping		1		0.50	1	55.47	55.47	U .	U		
Government - Reporting	1	1	1	5.00	5	55.47	277.35	0	0		
Private Sector - Recordkeeping	1	T	1	0.50	1	86.64	86.64	o o	0		
Private Sector - Reporting	1	1	1	5.00	5	86.64	433.20	0	0		
Individuals - Recordkeeping	1	1	1	0.50	1	40.90	40.90	ΦО	\$0		
Individuals - Reporting	1	1	1	5.00	5	\$40.90	\$204.50	\$0	\$0		
Amendment - Single Application for Mu	ultiple Activitie	es 50 CFR 13.1	1(d)(1) (NE	W)							
Subtotal	3		3		600		\$36,602.00		\$4,500	20	\$3,854.40
Government - Recordkeeping	1	1	1	40.00	40	55.47	2,218.80	1,500	1500		
Government - Reporting	1	1	1	160.00	160	55.47	8,875.20	1 500	1500		
Private Sector - Recordkeeping	1	1	1	40.00	40	86.64	3,465.60	1,500	1,500		
Private Sector - Reporting	1	1	1	160.00	160	86.64	13,862.40	1 500	1 500		
Individuals - Recordkeeping	1	1	1	40.00	40	40.90	1,636.00	\$1,500	\$1,500		
Individuals - Reporting	1	4	4	160.00	160	\$40.90	\$6,544.00	Ø4 F00	<b>#1 FCC</b>		
Single Application for Multiple Activitie	es 50 CFR 13.3	11(d)(1) <i>(NEW</i>	)								
Subtotal	1		1		1		\$55.47		\$0	4	\$256.96
Government - Recordkeeping	1	1	1	0.25	0	55.47	0.00	0	0		
Government - Reporting		_		0.50	1	55.47	55.47				
Private Sector - Recordkeeping	0	1	0	0.25	0	38.61	0.00	0	0		
Private Sector - Reporting				0.50	0	38.61	0.00				
Individuals - Recordkeeping	0	1	0	0.25	0	40.90	0.00	\$0	\$0		
Individuals - Reporting	•	, ,		0.50	0	\$40.90	\$0.00				
Amendment - Native American Eagle To		552) <i>(NEW)</i>					ψ1,101.00	_	40	_	Ψ2,000.00
Government - Recordkeeping Subtotal	20		20	0.50	10 80	55.47	\$4,437.60	_	\$0	2	\$2,569.60
Government - Reporting	20	1	20	0.50	70	55.47 55.47	3,882.90 554.70	0	0		
Private Sector - Recordkeeping				0.50 3.50	0	38.61 55.47	0.00				
Private Sector - Reporting	0	1	0	3.50	0	38.61	0.00	0	0		
Individuals - Recordkeeping				0.50	0	40.90	0.00				
. 5	0	1	0					\$0	\$0		
	ake (Form 3-15	52) 50 CFR 22						_			
Application - Native American Eagle Ta Individuals - Reporting				3.50	0	\$40.90	\$0.00	\$0	<b>.</b>		

<sup>\*</sup> Rounded to match ROCIS

#1 - Standard BLS Rates

		М	•	٠
	n	u	$\boldsymbol{a}$	

	Number of	Number of		Completion Time/	Annual	Hourly Labor		Average Nonhour	Total Annual	Avg. Time (Hrs) per Response	
Regulation/Activity	Annual Respondents	Responses per Respondent	Total Annual Responses	Response (Hours)	Burden Hours*	Rate (Incl. Benefits)	\$ Value of Annual Burden Hours	Burden Cost (per Response)	Nonhour Burden Cost	for Gov't Review	Cost to Government (\$64.24/hour)
Eagle Fatality Monitoring and Report				()				(per reciperator)			(+0 112 11110 111)
Individuals - Reporting	0	1	0	114.00	0	\$40.90	\$0.00	40	Φ0		
Individuals - Recordkeeping	0	1	0	114.00	0	40.90	0.00	\$0	\$0		
Private Sector - Reporting	45	4	45	114.00	1,710	86.64	148,154.40	0	0		
Private Sector - Recordkeeping	15	1	15	114.00	1,710	86.64	148,154.40	0	U		
Government - Reporting	0	4	0	114.00	0	55.47	0.00	0	0		
Government - Recordkeeping	0	1	0	114.00	0	55.47	0.00	Ü	Ü		
Subtota		-	15		3,420	-	\$296,308.80		\$0	4	\$3,854.40
Reporting (In-time) Take of Eagles 5	0 CFR 22										
Individuals - Reporting	0	1	0	1.75	0	\$40.90	\$0.00	\$0	\$0		
Individuals - Recordkeeping	O	1	U	0.25	0	40.90	0.00	ΨΟ	ΨΟ		
Private Sector - Reporting	10	1	10	1.75	18	86.64	1,559.52	0	0		
Private Sector - Recordkeeping	10	1	10	0.25	2	86.64	173.28	U	U		
Government - Reporting	0	1	0	1.75	0	55.47	0.00	0	0		
Government - Recordkeeping		_	U	0.25	0	55.47_	0.00	U	0		
Subtota		_	10		20	_	\$1,732.80		\$0	1	\$642.40
Reporting Take of Threatened and Er	ndangered Spec	cies 50 CFR 22									
Individuals - Reporting	0	1	0	1.75	0	\$40.90	\$0.00	\$0	\$0		
Individuals - Recordkeeping	· ·	_	· ·	0.25	0	40.90	0.00	40	+~		
Private Sector - Reporting	1	1	1	1.75	2	86.64	173.28	0	0		
Private Sector - Recordkeeping	-	-	-	0.25	0	86.64	0.00	Ü	Ŭ		
Government - Reporting	0	1	0	1.75	0	55.47	0.00	0	0		
Government - Recordkeeping		_		0.25	0	55.47_	0.00	Ŭ,			
Subtota			1		2		\$173.28		\$0	1	\$64.24
Annual Report - Eagle Depredation (I	orm 3-202-11)	50 CFR 22				* * * * * * * * * * * * * * * * * * * *	+				
Individuals - Reporting	0	1	0	0.50	0	\$40.90	\$0.00	\$0	\$0		
Individuals - Recordkeeping				0.50	0	40.90	0.00				
Private Sector - Reporting	10	1	10	0.50	5	38.61	193.05	0	0		
Private Sector - Recordkeeping				0.50	5	38.61	193.05				
Government - Reporting	10	1	10	0.50	5	55.47	277.35	0	0		
Government - Recordkeeping	1 20	_	20	0.50	5 	55.47_	277.35 \$940.80		\$0	1.5	¢1 027 20
Subtota  Annual Report - Eagle Depredation (I		50 CED 22 (oDd			20		\$940.80		<b>\$</b> U	1.5	\$1,927.20
Individuals - Reporting	-01111 3-202-11)	30 CFR 22 (6F6	annis)	0.33	0	\$40.90	\$0.00				
Individuals - Reporting  Individuals - Recordkeeping	0	1	0	0.50	0	40.90	0.00	\$0	\$0		
Private Sector - Reporting				0.33	3	38.61	115.83				
Private Sector - Recordkeeping	10	1	10	0.50	5	38.61	193.05	0	0		
Government - Reporting				0.33	3	55.47	166.41				
Government - Recordkeeping	10	1	10	0.50	5	55.47	277.35	0	0		
Subtota	ı 20	-	20	0.50	16	33.47_	\$752.64		\$0	1.25	\$1,606.00
Annual Report - Eagle Exhibition (Fo		O CFR 13, 21, an			10		Ψ102.04		Ψ0	1.20	Ψ1,000.00
Individuals - Reporting	•			0.80	0	\$40.90	\$0.00				
Individuals - Recordkeeping	0	1	0	0.20	0	40.90	0.00	\$0	\$0		
Private Sector - Reporting	0	_	0.5.3	0.80	200	38.61	7,722.00	_			
Private Sector - Recordkeeping	250	1	250	0.20	50	38.61	1,930.50	0	0		
Government - Reporting				0.80	80	55.47	4,437.60				
Government - Recordkeeping	100	1	100	0.20	20	55.47	1,109.40	0	0		
Subtota	J 350	-	350		350	_	\$15,199.50		\$0	0.5	\$11,242.00
Annual Report - Eagle Exhibition (Fo	rm 3-202-13) <mark>5</mark> 0	CFR 22 (ePern	nits)								

Individuals - Reporting	0	1	0	0.55	0	\$40.90	\$0.00	\$0	\$0		
Individuals - Recordkeeping	O	-		0.20	0	40.90	0.00	ΨΟ	ΨΟ		
Private Sector - Reporting	050	4	050	0.55	138	38.61	5,328.18				
Private Sector - Recordkeeping	250	1	250	0.20	50	38.61	1,930.50	0	Ü		
Government - Reporting				0.55	55	55.47	3,050.85				
Government - Recordkeeping	100	1	100	0.20	20	55.47	1,109.40	0	0		
Subtota	350		350	0.20	263	. 55.47	\$11,418.93		\$0	0.33	\$7,419.72
Annual Report - Native American Eag		3-202-14) 50			203		Ψ11,410.55		ΨΟ	0.55	Ψ1,413.12
Individuals - Reporting	gic Avialy (i oilli	0-202 14, 00	OI ICEE	1.75	0	\$40.90	\$0.00				
	0	1	0					\$0	\$0		
Individuals - Recordkeeping				0.25	0	40.90	0.00				
Private Sector - Reporting	0	1	0	1.75	0	38.61	0.00	0	0		
Private Sector - Recordkeeping				0.25	0	38.61	0.00				
Government - Reporting	5	1	5	1.75	9	55.47	499.23	0	0		
Government - Recordkeeping		<del>-</del>	<u> </u>	0.25	1	55.47	55.47				
Subtota			5		10		\$554.70		\$0	1	\$321.20
Annual Report - Native American Eag	gle Aviary (Form	3-202-14) <b>50</b>	CFR 22 (ePer	mits)							
Individuals - Reporting	0	1	0	1.50	0	\$40.90	\$0.00	\$0	\$0		
Individuals - Recordkeeping	U	1	U	0.25	0	40.90	0.00	ФО	ΦО		
Private Sector - Reporting				1.50	0	38.61	0.00				
Private Sector - Recordkeeping	0	1	0	0.25	0	38.61	0.00	0	0		
Government - Reporting				1.50	8	55.47	443.76				
Government - Recordkeeping	5	1	5	0.25	1	55.47	55.47	0	0		
Subtota	J 5		5	0.23	9	. 55.47	\$499.23		\$0	0.75	\$240.90
Annual Report - Eagle Incidental Tak		5) 50 CED 22	-	ction)	3		Ψ+33.23		ΨΟ	0.75	Ψ240.30
	.e (F01111 3-202-1	3) 30 CFR 22	(Title Correc		100	¢40.00	\$4,090.00				
Individuals - Reporting	5	1	5	20.00		\$40.90		\$0	\$0		
Individuals - Recordkeeping				20.00	100	40.90	4,090.00				
Private Sector - Reporting	80	1	80	20.00	1,600	86.64	138,624.00	0	0		
Private Sector - Recordkeeping				20.00	1,600	86.64	138,624.00				
Government - Reporting	10	1	10	20.00	200	55.47	11,094.00	0	0		
Government - Recordkeeping				20.00	200	55.47	11,094.00	0	Ŭ		
Subtota	d 95		95		3,800		\$307,616.00		\$0	1.5	\$9,154.20
Annual Report - Eagle Incidental Tak	e (Form 3-202-1	5) 50 CFR 22 (	ePermits) <mark>(Ti</mark>	tle Correction	on)						
Individuals - Reporting	-	4	-	18.00	90	\$40.90	\$3,681.00	40	ф0		
Individuals - Recordkeeping	5	1	5	20.00	100	40.90	4,090.00	\$0	\$0		
Private Sector - Reporting				18.00	1,440	86.64	124,761.60				
Private Sector - Recordkeeping	80	1	80	20.00	1,600	86.64	138,624.00	0	0		
Government - Reporting				18.00	180	55.47	9,984.60				
Government - Recordkeeping	10	1	10	20.00	200	55.47	11,094.00	0	0		
Subtota	J 95		95	20.00	3,610	55.47	\$292,235.20		\$0	1.25	\$7,628.50
Annual Report - Eagle Nest Take and		rm 3-202-16)			3,010		Ψ232,233.20	_	ΨΟ	1.20	Ψ1,020.30
Individuals - Reporting	omiomig (i oi	0 202 10)	OI IVE	8.00	24	\$40.90	\$981.60				
	3	1	3	8.00	24	40.90	981.60	\$0	\$0		
Individuals - Recordkeeping											
Private Sector - Reporting	8	1	8	8.00	64	86.64	5,544.96	0	0		
Private Sector - Recordkeeping				8.00	64	86.64	5,544.96				
Government - Reporting	4	1	4	8.00	32	55.47	1,775.04	0	0		
Government - Recordkeeping				8.00	32	55.47	1,775.04				
Subtota			15		240		\$16,603.20		\$0	1	\$963.60
Annual Report - Eagle Nest Take and	l Monitoring (Fo	rm 3-202-16)	0 CFR 22 (eP	ermits)							
Individuals - Reporting	3	1	3	7.00	21	\$40.90	\$858.90	\$0	\$0		
Individuals - Recordkeeping	3	1	3	8.00	24	40.90	981.60	φυ	Φυ		
Private Sector - Reporting	2	4	_	7.00	56	86.64	4,851.84				
Private Sector - Recordkeeping	8	1	8	8.00	64	86.64	5,544.96	0	0		
Government - Reporting				7.00	28	55.47	1,553.16				
Government - Recordkeeping	4	1	4	8.00	32	55.47	1,775.04	0	0		
20.000 Mooral Coping				0.00	52	55.71	±,110.04				

Subt	rotal 15		15		225		\$15,565.50		\$0	0.75	\$722.70
Eagle Recovery Tag (Form 3-2480)					220		<b>\$10,000.00</b>		Ψū	00	<b>4.22</b>
Individuals/Households	0	2	0	0.25	0	\$40.90	\$0.00	\$0	\$0		
Private Sector	0	2	0	0.25	0	38.61	0.00	0	0		
State/Local/Tribal	250	2	500	0.25	125	55.47	6,933.75	0	0		
Subt			500		125		\$6,933.75		\$0	0.5	\$16,060.00
Report - Tribal Eagle Retention - A	Acquisition Form (F	orm 3-1591) 5	0 CFR 22								
Individuals - Reporting	0	1	0	1.00	0	\$40.90	\$0.00	\$0	\$0		
Individuals - Recordkeeping	v	-	Ŭ	0.25	0	40.90	0.00	Ψ	Ψ0		
Private Sector - Reporting	0	1	0	1.00	0	38.61	0.00	0	0		
Private Sector - Recordkeeping	O	1	O	0.25	0	38.61	0.00	o e	O		
Government - Reporting	30	1	30	1.00	30	55.47	1,664.10	0	0		
Government - Recordkeeping	30	1	30	0.25	8	55.47	443.76	U	U		
Subt	otal 30		30		38		\$2,107.86		\$0	2	\$3,854.40
Report Take of Eagles (3rd and 4th I	Eagles) 50 CFR 22.2	250(d)(2) and (	(d)(3)) <i>(NEW</i>	<i>'</i> )							
Individuals - Reporting	1	1	1	1.00	1	\$40.90	\$40.90	\$0	\$0		
Individuals - Recordkeeping	1	1	1	1.00	1	40.90	40.90	\$0	\$0		
Private Sector - Reporting		4		1.00	1	86.64	86.64				
Private Sector - Recordkeeping	1	1	1	1.00	1	86.64	86.64	U	U		
Government - Reporting	_	_		1.00	1	55.47	55.47				
Government - Recordkeeping	1	1	1	1.00	1	55.47	55.47	0	0		
Subt	otal 3		3		6		\$366.02		\$0	40	\$7,708.80
Grand Total	1,279		1,529		12,154		\$969,008.21		\$0		\$73,410.26

<sup>\*</sup> Rounded to match ROCIS

#1 - Standard BLS Rates

										Орише	
Regulation/Activity	Number of Annual Respondents	Number of Responses per Respondent	Total Annual Responses	Completion Time/ Response (Hours)	Annual Burden Hours*	Hourly Labor Rate (Incl. Benefits)	\$ Value of Annual Burden Hours	Average Nonhour Burden Cost (per Response)	Total Annual Nonhour Burden Cost	Avg. Time (Hrs) per Response for Gov't Review	Cost to Government (\$64.24/hour)
Permit Reviews 50 CFR 22 (NEW TI	TLE)										
Individuals - Reporting	•	4	0	17.00	0	\$40.90	\$0.00	40	40		
Individuals - Recordkeeping	0	1	0	3.00	0	40.90	0.00	\$0	\$0		
Private Sector - Reporting	4	4		17.00	68	86.64	5,891.52	0.000	22.000		
Private Sector - Recordkeeping	4	1	4	3.00	12	86.64	1,039.68	8,000	32,000		
Government - Reporting	0	4	0	17.00	0	55.47	0.00	0	0		
Government - Recordkeeping	0	1	0	3.00	0	55.47	0.00	0	U		
Subtotal	4	_	4		80	-	\$6,931.20		\$32,000	40	\$10,278.40
Pre-construction Eagle Exposure Sur	veys 50 CFR 2	22									
Individuals - Reporting	0	1	0	50.00	0	\$40.90	\$0.00	\$0	\$0		
Individuals - Recordkeeping	U	1	U	50.00	0	40.90	0.00	Φ0	ΦΟ		
Private Sector - Reporting	15	1	15	50.00	750	86.64	64,980.00	0	0		
Private Sector - Recordkeeping	15	1	15	50.00	750	86.64	64,980.00	U	U		
Government - Reporting	0	1	0	50.00	0	55.47	0.00	0	0		
Government - Recordkeeping	U	1	U	50.00	0	55.47	0.00	U	U		
Subtotal	15	_	15		1,500	_	\$129,960.00		\$0	20	\$19,272.00
Labeling Requirement 50 CFR 22 (N	IEW)										
Individuals/Households	10	1	10	0.25	3	\$40.90	\$122.70	\$0	\$0		
Private Sector	475	4	1,900	0.25	475	38.61	18,339.75	0	0		
State/Local/Tribal	475	_ 4	1,900	0.25	475	55.47_	26,348.25	0	0		
Subtotal			3,810		953		\$44,810.70		\$0	0.25	\$61,188.60
Compensatory Mitigation 50 CFR 22	(NEW)										
Individuals - Reporting	16	1	16	32.00	512	\$40.90	\$20,940.80	\$4,270	\$68,320		
Individuals - Recordkeeping	10	-	10	8.00	128	40.90	5,235.20	Ψ1,210	Ψ00,020		
Private Sector - Reporting	58	1	58	32.00	1,856	86.64	160,803.84	4,270	247,660		
Private Sector - Recordkeeping	00	-	00	8.00	464	86.64	40,200.96	1,270	211,000		
Government - Reporting	16	1	16	32.00	512	55.47	28,400.64	0	0		
Government - Recordkeeping		_		8.00	128	55.47_	7,100.16	Ŭ,			
Subtotal			90		3,600		\$262,681.60		\$315,980	20	\$115,632.00
Requests for Reconsideration Assoc	iated with Eagl	e Permits (Susp	ension and F								
Individuals - Reporting	35	1	35	2.00	70	\$40.90	\$2,863.00	\$0	\$0		
Individuals - Recordkeeping		_	- 55	1.00	35	40.90	1,431.50	Ψ	40		
Private Sector - Reporting	8	1	8	2.00	16	38.61	617.76	0	0		
Private Sector - Recordkeeping	J	±		1.00	8	38.61	308.88	Ü	0		
Government - Reporting	2	1	2	2.00	4	55.47	221.88	0	0		
Government - Recordkeeping		_		1.00	2	55.47_	110.94	Ŭ			
Subtotal			45		135		\$5,553.96		\$0	4	\$11,563.20
Grand Total	1,114		3,964		6,268		\$449,937.46		\$347,980		\$217,934.20

<sup>\*</sup> Rounded to match ROCIS

#1 - Standard BLS Rates